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VU � Vr                                                                                                                               

Vr  = VC + VS                                                                                                                                                                                   

Vr max = 5  VC                                                                                                                       

VC= 0.2 �C  �fc hd       ,         d = 0.8LW                                                                  ��

� �� �Vr max = �c �fc hd           
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VC = 0.2 �C �fc  hd                                                                  ��������>Ed������.'��"e�� NU��=� 

VC = 0.2 �C �fc  ( 1+ 
g

U

A

N

3
 )  hd                                           ���������������     �������>>,���& NU��=��                                       

�%�f$E�
B����NU���/�]��Ag�����Y��g������)�����V0�����Y������$"%�A:�gB���hB��&��

VS = VU – VC                                                                                                                       
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S
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ϕ
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Ah ������
F����%��"�
F���8"�
F "��V0�������E��%�K�����%��"�8"�gB���hB��&��

��������FL$,�
,�J��,��������&   350  mm           ���������������"�3h��"�����������SZ  � LW /  5      ��

  =  Ah  / h s2                     hρ � 0.0025            hρ        
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∗∗��"�#��������������5���( vu) ��
���AC�  �c ��������>����/������6I���$*�����
F����%����5���F�&���

VU > AC�  �C                                                                                                                       �  

AC� = Lwh 

�C = 0.2 �C �fc   

                   

= Ac�C�%$������$@ �������������
,��%�������%�gB���+$����?���/��QR�	%��W������gB���iI�4�/��0���   �  

 �g�������������V0����� � 

pn ��X�O��%�8"�
F "��V0�����;<�=������%�K����/�0�������
"�&��

AN �X�������
"O��%��"�8"�
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d�J
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,�J��,�����&350          �����������"����3h����"�������S1  � LW / 3        ��
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C = W+T                                                            
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e
) + Ce  - Ha  = 0 
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��?�)�4����������$"%�&�����%�K����������/0�$�B�

�TF)��
�����%���$"%������J
O&��

fC = 30  N/ mm
2
     ��

 fY = 400 N/mm
2      

��
����	
����*+��,��

��

h � 3600 / 25  = 144 mm                                                                                             

ACI                                  use   h= 200 mm    

 

� �h � 4500 / 25 = 180  mm                      ����
��

                                                                                                   �������Xh �  150  mm   

���	
����*+��	�-)�����)�,� 

Vu = 668    kN                                                                                                      

Vr max = �c �fc  hd   =  ?                                                                                     

d = 0.8 LW  = 0.8 ( 4.5 ) = 3.6  m                                                                     

� �Vr max = 0.6 � 30 ( 20) ( 3.6 × 1000) × 10
-3                                     

� 2366  kN  >  668   kN  �Vr max =� 

�'�����.����/���
 

��VC = 0.2   �C  �FC  hd   

Vc = 0.2 ( 0.6) �30 ( 200) ( 3600) × 10
-3 

= 473   kN 

Vs = Vu – Vc = 668 – 473  = 195  kN                                                                 

�'�0��'����
�12���/���
��

df

SV
A

YS

S
h

ϕ
2= 

�  35  cm ��"3h = 60cm       � �����"S 2 � LW / 5   = 450 / 5 = 90 cm           ��

USE          S2  = 300  mm                                                 

                           
  mm    47.5

3600  400  0.85

(3000)  ) 10 195 ( 2
3

=
××

××
=hA 

 

    

            ��     USE    hρ = 0.0025                                         0.0025    0.0008   
200(300)

47.8
<==hρ
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Ah = ph h S2  = 0.0025  ( 200) (300) = 150                                              

� ���vC = ?                                                                                ��Acv 

� �A cv = LW h = 4500 (200) = 9 × 10
5 
 mm

2     
                              

� �vc = 0.2  �c �fc = 0.2 ( 0.6) × �30 = 0.66                               

Acv  . vC = 9 × 10
5
 × ( 0.66) × 10

-3 
=  594                                                                  

 

� �VU= 668  kN >  Acv   vc     =  594                                                     

�
_�����%�������������%�K����
"O��%�
��
����&�	��)��%�K����T"%���%�
�10�%$�����	%�.����&d�kO$)P��C���$"%�%�������%

���$"%�o���
�$5�
��n"%6�&e��

A = 2 ( � × 10
2
 / 4 ) =  157   mm

2   
                                                                        

��

�/���
���34���
�12����

nρ = 0.0025                                                                                          

S1 �  LW  / 3   = 150  �"�     3h = 60 cm       �"       35   cm                                    

  mm300 = 1S       SEU 

 

AN = nρ  S1h  =  0.0025 (300) (200) = 150                                                   

10 � 2             SEU 
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Mr = 0.5 ( 2355) (0.85) (400) (4500) ( 1-0.06) × 10
-6 

                                           
 

Mr = 1693   kn-m   <  4331  �     /0���$K��$�                                                                      
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�+�]��X���	%����������A�������H���������H��/W*�
,����������>)4�u�=����������$"%�
��V,���	���	%�%�?�>��	
��

��������
I6I
�������	��
��&�U�!�
��u�=������*300 mm��-�.*���
�����400 mm #�$�������%�P���
���400× 400 mm 

 �� ��������&�����������$"%�A��,�������/0�$�B���

Fc = 28  N / mm
2
              FY = 420 N /mm

2                                                                                                         

 

�9������%����H�������WD = 24 kN/m                     J��              WL = 16 kN /m  

�����������������WL = 8   kN/m                    � �WL = 8 kN /m                           ��
 

 
 

 

 

 

�V�,�*��%���$"%���a��%�}������>)4�?�)��C���$W��������C�y�^!��?
����	���
<������������H���"
�	
���A��W*����  

0.8 ( 1.25 D + 1.5 L + 1.5 E )  �����/�����������X��

�	
���~�����7��X�PU = 1192  kN  � ��	
���~������[���X�PU= 1120  kN                   
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� �Pu = 0.8 [ 0.85 �cfc (Ag –ASt) + �Sfy  ASt  ]                                                                          

ASt = 8500  mm
2
                        16 � 26                                                                   

Pu = { 0.8 [ 0.85× 0.6 ×28 ( 350
2
 – 8500)+ 0.85 × 420 × 8500] ×10

-3 
}                ����

� Pu = 3730  > 3600   
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Vu = 783  kN 

                ������%�K����	�.���%�
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����+�� , 

�Acv . �C = LWh (0.2 �c �fc ) 

= 3000 × 200 ( 0.2× 0.6�28 ) × 10
-3 

 = 381 
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� �V r max =  �c �fc hd                                                                     

d = 0.8 LW = 2400                                                                                          

� �����0.6 �28 (200)( 2400) × 10
-3  

= 1524  kN���V r max =  

� VU = 783  < Vr max ��

VC = 0.2 �c �fc hd  =  0.2 ( 0.6) �28 (200) (2400) × 10
-3

   �  VC = 305  kN 
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nρ = 0.0025  + 0.5 ( 2.5 – (hw / LW) ) ( ph – 0.0025 )                                                     

nρ = 0.0025 + 0.5 (2.5 – (3000/3000) ) ( 0.0031 – 0.0025  )  =   0.003    ����%�K����
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